REPUESTOS ENFRIADOR

: frl J C 0 S O I GLASSES COOLER SPARE PARTS

FRUCOSOL GF1000




. frucosol

REPUESTOS ENFRIADOR
GLASS COCLER PARTS

FRUCOSOL GF-1000

Ref. N° Repuesto Spare Part Price
gf1000-001 1 Goma Térica Rubber ring
gf1000-002 2 Tuerca Nut
gf1000-003 3 Pieza de apriete Tightening part
gf1000-004 4 Filtro Filter
gf1000-005 5 Véstago Rod
gf1000-006 6 Latiguillo Hose
gf1000-007 7 Tornillo M12*100 Screw
gf1000-008 8 Mordaza Fixing part
gf1000-008 B Mordaza B Finxing part B
gf1000-009 9 Tornillo M8*30 Screw M8*30
gf1000-010 10 Carcasa Cover
gf1000-011 11 Luces Led Led lights
gf1000-012 12 Difusor Diffuser
gf1000-013 13 Campana Hood
gf1000-014 14 Tornillo M4*10 Valve
gf1000-015 15 Cuello de la campana Neck hood
gf1000-016 16 Tapa Lid
gf1000-017 17 Valvula Valve
gf1000-018 18 Chasis interno Internal frame
gf1000-019 19 Micro de seguridad Security micro
gf1000-020 20 Tornillo M6*80 Screw M6*80
gf1000-021 21 Portapilas Battery holder
gf1000-022 22 Tuerca M6 Nut M6
gf1000-023 23 Pilas Batery
gf1000-024 24 Conector Valvula Valve connector




